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QUESTION 1

Examine the following command to create the table EMPLOYEES_TEMP and the PL/SQL block.
CREATE TABLE employees_temp (empid NUMBER(6) NOT NULL,

deptid NUMBER(6) CONSTRAINT ¢_emp_deptid CHECK (deptid BETWEEN 100 AND 200),

salary Number(8),

deptname VARCHAR2(30) DEFAULT \\'Sales\\")

/

DECLARE

SUBTYPE v_emprec_subtype IS employees_temp%ROWTYPE;

v_emprec v_emprec_subtype;

BEGIN

v_emprec.empid := NULL; v_emprec.salary := 10000.002;

v_emprec.deptid := 50;

DBMS_OUTPUT.PUT_LINE(\W'v_emprec.deptname: \\' || v_emprec.deptname);

END;

/

Which statements are true about the above PL/SQL block? (Choose two.)

A.V_EMPREC.DEPTNAME would display a null value because the default value is not inherited.

B. Assigning null to V_EMPREC.EMPID would generate an error because the null constraint is inherited.
C. Assigning the value 1000.002 to V_EMPREC.SALARY would generate an error because of the decimal.
D. Assigning the value 50 to V_EMPREC.DEPTID would work because the check constraint is not inherited.

Correct Answer: AD

QUESTION 2

Which three actions can be performed by using the DBMS_ASSERT package to prevent SQL injection? (Choose
three.)

A. Detect a wrong user.

B. Check input string length.
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C. Verify qualified SQL names.

D. Validate TNS connect strings.

E. Verify an existing schema name.

F. Enclose string literals within double quotation marks.

Correct Answer: CEF

QUESTION 3

In which two situations is the body of a result-cached function executed? (Choose two.)

A. if the memory allocated for the result cache is increased

B. if a session on this database instance invokes the function with the same parameter values

C. if the first time a session on this database instance invokes the function with a parameter value

D. if a session executes a data manipulation language (DML) statement on a table or view that was specified in the
RELIES_ON clause of a result-cached function

Correct Answer: CD

QUESTION 4

Examine the PL/SQL code for the GET_TABLE_MD function given below:
CREATE OR REPLACE FUNCTION get_table_md RETURN CLOB IS
h NUMBER;

th NUMBER,;

doc CLOB;

BEGIN

h := DBMS_METADATA.OPEN(\TABLE\Y);
DBMS_METADATA.SET_FILTER(h,\W\SCHEMA\' \\HR\\);
DBMS_METADATA.SET_FILTER(h,\\NAME\\',\'TIMECARDS\\);

th := DBMS_METADATA.ADD_TRANSFORM(h,\'DDL\\);

doc := DBMS_METADATA.FETCH_CLOB(h);
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DBMS_METADATA.CLOSE(h);

RETURN doc;

END;

Which statement is true about the compilation and execution of the function?

A. The function retrieves the metadata in Extensible Markup Language (XML) format for creating the TIMECARDS table
in the HR schema.

B. The compilation produces an error because DBMS_METADATA.SET_FILTER(h,\'SCHEMA\' \'HR\\")is not placed in
the correct order.

C. The function retrieves the metadata as a data definition language (DDL) statement for creating the TIMECARDS
table in the HR schema.

D. The execution of the function produces an error because multiple objects are fetched and
DBMS_METADATA.FETCH_CLOB is not called in a LOOP.

Correct Answer: C

QUESTION 5

Identify three guidelines for the DBMS_ASSERT package. (Choose three.)

A. Prefix all calls to DBMS_ASSERT with the SYS schema name.

B. Embed DBMS_ASSERT verification routines inside the injectable string.

C. Escape single quotes when you use the ENQUOTE_LITERAL procedure.

D. Define and raise exceptions explicitly to handle DBMS_ASSERT exceptions.

E. Prefix all calls to DBMS_ASSERT with a schema name that owns the subprogram that uses the DBMS_ASSERT
package.

Correct Answer: ACD
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